Beast Bale Feeder
Assembly Instructions

Thank you for purchasing the NZ Made
Kiwi Bale Feeders - Beast Bale Feeder.

PARTS LIST

Please check you have all the required parts:
« 2 x end frames « 6 x M10x60 bolts

« 2 x centre frames  + 8 x M10x100 bolts

* 1 x floor * 14 x M10 nyloc nuts

TOOLS

The tools you need for the assembly
are a 16mm and 17mm ring spanner or
equivalent.

BALE FEEDER ASSEMBLY

« Take one end frame and the floor and connect
the two using three bolts. Insert 3 M10x60 bolts
through the bottom row of holes on the end
frame into the end of the floor.

« Take one centre frame and bolt it to the end
frame with 2 M10x100 bolts.

KIWIBALEFEEDERS.CO.NZ | 06 210 2276

* Bolt the last centre frame to the end frame
with 2 M10x100 bolts.

* Bolt the other end frame to the 2 centre
frames and the floor with the remaining bolts.
Ensure the end frame is the correct way
around, with the tow eyes at the same end.

Your Beast Feeder is now ready to use!

HELP
If you require any help, please don’t hesitate to
give us a ring and we will be happy to help.

& Kiwi

bale feeders



Bale Feeder Roof
Assembly Instructions

Thank you for purchasing the NZ Made
Kiwi Bale Feeders - Bale Feeder Roof.

PARTS LIST
« 2 x roof frames * 8 x M10x60 bolts
* 4 x roof legs * 4 x M10x110 bolts

* 4 x connector plates  +12 x M10 nyloc nuts
« 2 x linch pins

TOOLS

The tools you need for the assembly
are a 16mm and 17mm ring spanner or
equivalent.

ROOF ASSEMBLY

« Remove the top 4 bolts on the Big Bale
Feeder, attach the connector plates with the
longer M10x110 bolts.

plate.

« Bolt the roof legs to each roof frame
with 4 M10x60 bolts. Ensure the end
brackets on the roof legs face inward.

* Close the 2 roof frames so they meet at the top.
* Clip the roof together using the 2x linch pins.

HELP
If you require any help, please don't hesitate to
give us a ring and we will be happy to help.

& Kiwi

bale feeders

KIWIBALEFEEDERS.CO.NZ | 06 210 2276





